.E JD Linear Motion Products & Technology.

s 2 8l R 5 w %5 SLIDE SHAFT
m CRS XX _" - =

B iR F S0
R

'CRS25 X 500L

M @25mm #h=2 £ 500mm
G
04
i o
— L —
7 UNIT : mm
S D 258 CRS MR A== BRARERE = SME D
mm um h8 L mm kg/m AL
8 CRS 8 0 3000 0.40 8
10 CRS 10 -22 3000 0.62 10
12 CRS 12 3000 0.89 12
15 CRS 15 0 3000 1.39 15
16 CRS 16 -27 3000 1.58 16
18 CRS 18 3000 2.00 18
20 CRS 20 0 3000 2.47 20
25 CRS 25 33 3000 3.85 25
30 CRS 30 3000 5.55 30
35 CRS 35 3000 1.55 35
40 CRS 40 0 3000 9.87 40
45 CRS 45 -39 3000 12.49 45
50 CRS 50 3000 15.41 50
55 CRS 55 3000 18.65 55
60 CRS 60 3000 22.20 60
65 CRS 65 0 3000 26.05 65
70 CRS 70 -46 3000 30.21 70
75 CRS 75 3000 34.68 75
80 CRS 80 3000 39.46 80
90 CRS 90 0 3000 49.94 90
100 CRS 100 54 3000 61.66 100
120 CRS 120 3000 88.78 120
150 CRS 150 -g3 6000 139.00 150

EZERZBMIRAT]  TEL:04-24651881 FAX: 04-2465 1880
JD Linear Motion Products & Technology. ePmhAEEEME137E105%




.E JD Linear Motion Products & Technology.

=t IR g %5 SLIDE SHAFT
m SCF XX

< [H 8 5% Bl /0

ME : BEE (SUJ2) SMNEBIETE 5 (CR)
T8 HRC62 +2

FEME :04Rall T

Rtk

SFR25 | X | 500L |

i

)

HANME F25mm #HZ2 & 500mm
G
04
— L —
BEfi7 UNIT : mm
SME D IMENE BABMERE BMEEEFRE = X
AIZE SFR 378 F R RU 5%
iy um g6 L mm mm kg/m

3| SFR 3 200 0.06 LM 3

4| SFR 4 4 200 0.10 LM 4

5  SFR 5 12 2000 0.16 LM 5

6 SFR 6 3000 0.23 LM 6

8§ SFR 8 5 3000 1.55E 0.40 LM 8
10| SFR 10 14 2000 0.62 LM 10
12 | SFR 12 6000 0.89 LM 12
13 | SFR 13 6 6000 1.05 LM 13
15 | SFR 15 17 6000 1.58 i

16 | SFR 16 6000 2.47 LM 16
20 SFR 20 ; sooo | “OME 385 | LM 20
25 SFR 25 b 6000 5.55 LM 25
30 | SFR 30 6000 | L. 7.55 LM 30
35 | SFR 35 B 6000 : 9.87 LM 35
10 SFR 40 o 6000 15.41 LM 40
50 | SFR 50 6000 22.20 LM 50
60 | SFR 60 10 6000 |, 39.46 LM 60
80 | SFR 80 29 6000 DL 61.66 LM 80
100 | SFR 100 e 6000 LM 100

EfERIS AT TEL:04-24651881 FAX: 04-2465 1880
JD Linear Motion Products & Technology. BPhAEEEME137E105%

www.jiu-de.com




.E JD Linear Motion Products & Technology.

=t IR g %5 SLIDE SHAFT

m SCFH %%
EAREH Oy (Z20vEH)
ME Bl (SUJ2)
1EE : HRC62 +2
FHEMBEE 04RalA T

EmilgE
FIME F25mm #wE R 500mm
G
04
il !
N .
VA A
— L —
BEfi7 UNIT : mm
S D A d w88 ST INENE BRABERE BEEBFE £ SME D
mm mm pm h6 L mm mm kg/m ]
10 4 SNT 10 0~-9 1000 1.2 0.52 10
12 4 SNT 12 0~-11 2000 1.3 0.79 12
13 5 SNT 13 0~-11 2000 1.3 0.82 13
16 7 SNT 16 0~-11 4000 1.6 1.28 16
20 14 SNT 20 0~-13 5000 1.8 1.25 20
25 15.6 SNT 25 0~-13 5000 2.0 2.35 25
30 18.3 SNT 30 0~-13 6000 2.4 3.50 30
35 22 SNT 35 0~-16 6000 2.5 4.90 35
40 28 SNT 40 0~-16 6000 2.6 4.99 40
50 29.7 SNT 50 0~-16 6000 2.9 9.91 50
60 36 SNT 60 0~-19 6000 3.0 14.20 60
80 57 SNT 80 0~-19 6000 3.2 19.43 80
100 65 SNT 100 0~-22 6000 3.3 35.61 100

EZERZBMIRAT]  TEL:04-24651881 FAX: 04-2465 1880
JD Linear Motion Products & Technology. BPhAEEEME137E105%




.E JD Linear Motion Products & Technology.

=t IR g %5 SLIDE SHAFT

= SCFT 0% =

AN B AR TS Bl O
ME ;B (SUJ2)

8% : HRC62 +2
REME : 04RalLF

B L —
G M
04
' A A Il A l
- SN JHES ) ( /N
i SCooooLd
KN [T B X KxP XN
% N: L—I;xP
X K: B EE
BEfi7 UNIT : mm
4ME D IME N = 7LEB 1242 BEFRE | B | IsEE| A& BRARE
- itk
aalan um g6 P M /! d t C L max
16 | SFB16 | SFRB16| -6~ -17 150 | M5X0.8 9 55 2.5 0.7 4000
20 | SFB20 | SFRB20| -7 ~-20 150 M6 X 1 10 6.5 2.5 0.7 6000
25 | SFB25 | SFRB25| -7~-20 200 M6 X 1 12 6.5 2.5 0.7 6000
30 | SFB30 |SFRB30| -7~-20 200 M8X1.25 15 8.5 3.0 1 6000
35 | SFB35 | SFRB35| -9~-25 200 M8X1.25 15 8.5 3.0 1 6000
40 | SFB40 | SFRB40| -9~-25 300 M8X1.25 18 8.5 3.0 1 6000

EZERZBMIRAT]  TEL:04-24651881 FAX: 04-2465 1880
JD Linear Motion Products & Technology. BPhAEEEME137E105%




.E JD Linear Motion Products & Technology.

Bl 000 T HR &3 wozs SLIDE SHAFT
REMNMIZERTHED

e==—m==———o

E ¥ Y N NI F

BEM7 UNIT: mm

\ ;
,,,,,,,,,,,,,,,,
e Ea

e==—m==———o

EZERZBMIRAT]  TEL:04-24651881 FAX: 04-2465 1880
JD Linear Motion Products & Technology. ePmhAEEEME137E105%

Www.jiu-de.com




